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Find the missing angles in this kite.

Find the missing angles in this kite.

Find the missing angles in this kite.

18°

N

Find the values of the
variables in this kite.

’

4y + 26

Sy+5
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Find the missing angles in this kite.

L1=39° | o
Lid= //5°

/3= 26° |
L 4= 29° —_—

Ll = L4

LY=1§p ~2~11S5= 39°

Find the missing angles in this kite.

=24

|20 = WOG+P_+N._.\
1S5 = L1+LY

L m.E = 75°

!
!

Ll = 156°
| L2:90° | s St —Y2T-Y2° =9
L3= 42°
/4 =75

|

Find the missing angles in this kite.

| L] =l4=/LT7=LID H&Qﬂ

L2 = 57° ﬁlu L2 =Ll

L3 12 | —s (50 -% i =72°
L5> 727 | —> so-t0~/6= 2"
Llo= 57° |—> (59 - 90 —33 =57°
Lg=-1%° .

L9z 337 I (§0 -F0 ~57°

Find the values of the
variables in this kite.

19+20=541+5 .

-Hy ~dy
Ekmpit.
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| sl

I +2X A+ r\%\+.v\nb - \%O
Sx + 4(z0) +26 = (5O
. —
SX 110 =10
VAU\{:A 5% =70
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